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TRANSPORT WORKSHEET ANSWERS



Take a walk to FEET STREET. 
Walk round Feet Street and take a look at the display boards then answer the questions below. 

Transport is really important. We need to get around to go to school and the shops. We also like going on holiday. The problem is that cars and aeroplanes use a lot of fossil fuel in the form of petrol, diesel and oil. This produces a huge amount of pollution and carbon dioxide. These gases add to the greenhouse effect and contribute towards global warming. 

1. What form of transport do you use to get to school each day? What is its source of power?

Transport
Do you use it? (Yes or no)
What powers it?
Does this cause pollution?

By foot




Bicycle




Car




Train




Bus




2. Why do you use this form of transport?

Students should think about whether  it is because it's easy, or there are no alternatives.

3. Look at the graph below. This shows the impact different modes of transport have on the planet for every kilometre you travel.
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3a.  Which form of transport has the lowest impact on the planet?

Walking 

3b.  What type of vehicle has the largest impact on the planet?

The car

4. 
Cycling has a slightly bigger impact on the planet than walking because it uses rubber for tyres and metals to make the frame in factories. Why would a car have a bigger impact? Think about what it uses for fuel, and what cars need to travel on.

· The materials that make a car use a host of natural resources

· Cars run on fossil fuels (diesel, petrol, oil)  and therefore contribute to the carbon dioxide emissions and the greenhouse effect

· Cars need well maintained roads which use a lot of natural resources and energy to make and sustain.
5. Look at the displays in Feet Street. List 4 things we could do instead of using cars to get around. 

This could include:

· Walk

· Cycle

· Train

· Bus 
· Travel less when possible
6. List 4 advantages using fewer cars would have.

This could include:

· Improvement in health

· Reduction in respiratory problems due to less air pollution

· Getting fitter by walking and cycling more

· Fewer road accidents 

· Less pollution 

· A reduction in carbon dioxide emissions 

· A reduction in the concentration of greenhouse gases which would decrease the effect of global warming

· Less noise from cars on the streets

· Using public transport is more sociable  

7. As you leave Feet Street you will pass by two large cartoons. The one on the left shows a town in the future that has changed its technology to transport systems that do not use fossil fuels. There is still lots of congestion with electric cars but no pollution is being made. The picture on the right shows a world in the future where people have changed their lifestyle to use more bicycles, footpaths, and public transport.  Draw a sketch of how you would like to see future transport systems in towns. Label your diagram.

Students may want to include in their sketches electric mono rail, and electric cars and taxis that do not use fossil fuels; lots of pedestrian rights of way, cycle lanes and public transport; Wind turbines on nearby hills and buildings with solar electric and hot water systems could also be included. 

� EMBED Excel.Sheet.8  ���








1 of 3

[image: image2.wmf]Graph to show the impact of different modes of tranpsort

29.5

20

18.5

10.5

1

0

0

5

10

15

20

25

30

35

car

bus

motorbike

train

bicycle

walking

Impact of transport every kilometre (in hectares)

_1117024333.xls
Chart1

		

		car

		bus

		motorbike

		train

		bicycle

		walking



Impact (footprint) per set distance travelled

Impact of transport every kilometre (in hectares)

Graph to show the impact of different modes of tranpsort

29.5

20

18.5

10.5

1

0



Sheet1 (2)

		Transport mode		Impact (footprint) per set distance travelled

		car		29.5

		bus		20

		motorbike		18.5

		train		10.5

		bicycle		1

		walking		0





Sheet1 (2)

		1



#REF!



Sheet1

		



Impact (footprint) per set distance travelled

Impact of transport every kilometre (in hectares)

Graph to show the impact of different modes of tranpsort



Sheet2

		Transport mode		Ecological footprint

		taxi		600

		car		590

		plane		500

		bus		397

		motorbike		370

		train		210

		bicycle		20

		walking		0





Sheet2

		0

		0

		0

		0

		0

		0

		0

		0



Ecological footprint



Sheet3

		

		electricity from coal

		Electricity from gas

		Oil used directly

		Natural gas

		fuel wood

		Biomass for electricity





Sheet3

		0

		0

		0

		0





		





				min				max

		Electricity from coal				180

		Electricity from oil				150

		Electricity from gas				94

		Oil - direct use				59

		Gas - direct use				45

		Fuel wood				95

		Electricity from wood		27				46

		Solar electricity				24

		Solar water heating				16

		Hydroelectricity				10

		Electricity from wind				6





		0

		0

		0

		0

		0



min



		0		0		0

		0		0		0

		0		0		0

		0		0		0

		0		0		0

		0		0		0

		0		0		0



min

max



		0		0		0

		0		0		0

		0		0		0

		0		0		0

		0		0		0

		0		0		0

		0		0		0

		0		0		0

		0		0		0

		0		0		0

		0		0		0



min

max

Footprint in hectare years per GWh

Footprint of various energy sources




